Validate	Print Help Percentage BOQ								
Tender Inviting Authority: Staff Officer(Civil), CRS, Barkakana									
Name of Work: Annual maintenance contract of Central Stores, Barkakana for 02 years. (E-Tender Notice No. 19 of 2024-25)									
	ategory of Services (To Be Selected by Department) Category of Bidder(To Be Selected by Department) Bidder) To Be Entered by Department								
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)				
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00				

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER#	TEXT#	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1.00	PART A (AMC for 15th August, 26th January, Vishwakarma Puja)					
1.01	Surface dressing of the ground including removing vegetation and in- equalities not exceeding 15 cm deep and disposal of rubbish, lead upto 50 m and lift upto 1.5 m. All kinds of soil.	200.00	sqm	19.75	3950.00	INR Three Thousand Nine Hundred & Fifty Only
1.02	Clearing grass and removal of the rubbish upto a distance of 50 m outside the periphery of the area cleared.	5000.00	sqm	5.20	26000.00	INR Twenty Six Thousand Only
1.03	White washing with lime to give an even shade: Old work (two or more coats)	3000.00	sqm	14.30	42900.00	INR Forty Two Thousand Nine Hundred Only
1.04	Colour washing one coat over old surface with approved quality of lime in approved shade/ colour or as per dirction of EIC	4500.00	sqm	11.57	52065.00	INR Fifty Two Thousand &Sixty Five Only
1.05	Carriage of material by mechanical transport including loading, unloading and stacking: Lime, moorum, building rubbish with 05 km lead.	50.00	cum	109.27	5463.25	INR Five Thousand Four Hundred & Sixty Three and Paise Twenty Five Only
1.06	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : One or more coats on old work	600.00	sqm	65.65	39390.00	INR Thirty Nine Thousand Three Hundred & Ninety Only
2.00	PART - B (AMC FOR TANK CLEANING)					

2.01	Cleaning of terrace/ loft water storage tank (inside surface area) upto 2000 litre capacity at all heights with coconut brushes, duster etc., removal of silt, rubbish from the tank and cleaning the tank with fresh water disinfecting with bleaching powder @ 0.5gm per litre capacity of tank including marking the date of cleaning on the side of tank body with the help of stencil and paint and disposing of malba all complete as per direction of Engineer-in-Charge. (The old date already written on tank should be removed with paint remover or black paint and if date is not written with the stencil or old date is not removed deduction will be made @ Rs. 0.10 per litre) (if during cleaning any GI fittings or ball cock is damaged that is to be repaired by contractor at his own cost and nothing extra will be paid on this account)	60,000.00	litre	0.30	18000.00	INR Eighteen Thousand Only
3.00	PART-C (AMC FOR REPAIRING)					
3.01	Surface dressing of the ground including removing vegetation and in-equalities not exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift up to 1.5 m. All kinds of soil	500.00	sqm	19.75	9875.00	INR Nine Thousand Eight Hundred & Seventy Five Only
3.02	Earth work in excavation by mechanical means (Hydraulic excavator) / manual eans in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on an), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	50.00	cum	188.45	9422.50	INR Nine Thousand Four Hundred & Twenty Two and Paise Fifty Only
3.03	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:6 (1 cement : 6 coarse sand)	10.00	cum	6494.75	64947.50	INR Sixty Four Thousand Nine Hundred & Forty Seven and Paise Fifty Only
3.04	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in Cement Mortar 1:6 (1 cement : 6 coarse sand)	15.00	cum	5322.15	79832.25	INR Seventy Nine Thousand Eight Hundred & Thirty Two and Paise Twenty Five Only
3.05	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:1.5:3 (1 cement: 1.5 coarse sand (zone-III) derived from natural sources: 3 graded stone aggregate 20 mm nominal size derived from natural sources)	5.00	cum	7365.50	36827.50	INR Thirty Six Thousand Eight Hundred & Twenty Seven and Paise Fifty Only
3.06	Providing and fixing up to floor five level precast cement concrete string or lacing courses, copings, bed plates, anchor blocks, plain window sills, shelves, louvers, steps, stair cases, etc. including hoisting and setting in position with cement mortar 1:3 (1 cement : 3 coarse sand), cost of required centering, shuttering complete 1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size)	5.00	cum	8063.00	40315.00	INR Forty Thousand Three Hundred & Fifteen Only
3.07	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level Thermo-Mechanically Treated bar	800.00	kg	75.85	60680.00	INR Sixty Thousand Six Hundred & Seventy Nine and Paise One Hundred Only
3.08	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete. Fixed to steel windows by welding	525.00	kg	145.60	76440.00	INR Seventy Six Thousand Four Hundred & Forty Only

3.09	Providing and fixing M.S. Tubular frames for doors, windows, ventilators and cupboard with rectangular/ L-Type sections, made of 1.60 mm thick M.S. Sheet, joints mitred, welded and grinded finish, with profiles of required size, including fixing of necessary butt hinges and screws and applying a priming coat of approved steel primer. Fixing with 15x3 mm lugs 10 cm long embedded in cement concrete block 15x10x10 cm of C.C. 1:3:6 (1 Cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size)	142.90	kg	123.80	17691.02	INR Seventeen Thousand Six Hundred & Ninety One and Paise Two Only
3.10	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) non-decorative type, core of block board construction with frame of 1 st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters 30 mm thick including ISI marked Stainless Steel butt hinges with necessary screws	15.12	Sqm	1575.70	23824.58	INR Twenty Three Thousand Eight Hundred & Twenty Four and Paise Fifty Eight Only
3.11	Providing and fixing double action hydraulic floor spring of approved brand and manufacture conforming to IS: 6315, having brand logo embossed on the body/plate with double spring mechanism and door weight upto125kg, for doors, including cost of cutting floors, embedding in floors as required and making good the same matching to the existing floor finishing and cover plates with brass pivot and single piece M.S. sheet outer box with slide plate etc.complete as per the direction of Engineer-in-charge.	4.00	Each	2086.30	8345.20	INR Eight Thousand Three Hundred & Forty Five and Paise Twenty Only
3.12	Providing and fixing factory made single extruded WPC (Wood Polymer Composite) solid door/window/ Ceosetory windows & other Frames/Chowkhat comprising of virgin PVC polymer of K value 58-60 (Suspension Grade), calcium carbonate and natural fibers (wood powder/ rice husk/wheat husk) and non toxic additives (maximum toxicity index of 12 for 100 gms) fabricated with miter joints after applying PVC solvent cement and screwed with full body threaded star headed SS screws having minimum frame density of 750 kg/cum, screw withdrawal strength of 2200 N (Face) & 1100 N (Edge), minimum compressive strength of 58 N/mm2, modulus of elasticity 900 N/ mm2 and resistance to spread of flame of Class A category with property of being termite/borer proof, water/moisture proof and fire retardant and fixed in position with M.S hold fast/lugs/SS dash fasteners of required dia and length complete as per direction of Engineer-In- Charge. (M.S hold fast/lugs or SS dash fasteners shall be paid for separately). Note: For WPC solid door/window frames, minus 5mm tolerance in dimensions i.e depth and width of profile shall be acceptable. Variation in profile dimensions on plus side shall be acceptable but no extra payment on this account shall be made. (45x70 mm)	19.60	meter	532.15	10430.14	INR Ten Thousand Four Hundred & Thirty and Paise Fourteen Only

3.13	Providing and fixing factory made single extruded WPC (Wood Polymer Composite) solid plain flush door shutter of required size comprising of virgin polymer of K value 58-60 (Suspension Grade), calcium carbonate and natural fibers (wood powder/ rice husk/wheat husk) and non toxic additives (maximum toxicity index of 12 for 100 gms) having minimum density of 650 kg/cum and screw withdrawal strength of 1800 N (Face) & 900 N (Edge), minimum compressive strength 50 N/mm2, modulus of elasticity 850 N/mm2 and resistance to spread of flame of Class A category with property of being termite/borer proof, water/moisture proof and fire retardant and fixing with stainless steel butt hinges of required size with necessary full body threaded star headed counter sunk S.S screws, all as per direction of Engineer-In Charge. (Note: stainless steel butt hinges and necessary S.S screws shall be paid separately) 30 mm thick	5.88	sqm	3411.45	20059.33	INR Twenty Thousand &Fifty Nine and Paise Thirty Three Only
3.14	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	100.00	kg	77.95	7795.00	INR Seven Thousand Seven Hundred & Ninety Five Only
3.15	Providing and fixing 1 mm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3 mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6 mm for diagonal braces and central cross piece	1.89	sqm	3730.40	7050.46	INR Seven Thousand &Fifty and Paise Forty Six Only
3.16	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-incharge. (Glazing, paneling and dash fasteners to be paid for separately): For fixed portion Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	50.00	Kg	367.10	18355.00	INR Eighteen Thousand Three Hundred & Fifty Five Only

			I			INR Thirty Two Thousand Five Hundred & Fifty Only
3.17	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-incharge. (Glazing, paneling and dash fasteners to be paid for separately): For shutters of doors, windows & ventilators including providing and fixing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of EPDM rubber / neoprene gasket required (Fittings shall be paid for separately) Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	75.00	Kg	434.00	32550.00	into Thirty Two Thousand Tive Hundred & Filty Only
3.18	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge . (Cost of aluminium snap beading shall be paid in basic item) With float glass panes of 4.0 mm (weight not less than 10kg/sqm)	32.40	sqm	824.65	26718.66	INR Twenty Six Thousand Seven Hundred & Eighteen and Paise Sixty Six Only
3.19	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 1:2:4 (1 cement : 2 coarse sand (zone-III) derived from natural sources : 4 graded stone aggregate 20 mm nominal size derived from natural sources)	5.00	сим	6490.00	32450.00	INR Thirty Two Thousand Four Hundred & Fifty Only
3.20	Neat cement punning.	100.00	sqm	55.15	5515.00	INR Five Thousand Five Hundred & Fifteen Only
3.21	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 1:3:6 (1 Cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size)	5.00	cum	5916.00	29580.00	INR Twenty Nine Thousand Five Hundred & Eighty Only
3.22	12 mm cement plaster of mix: 1:6 (1 cement : 6 fine sand)	350.00	sqm	217.70	76195.00	INR Seventy Six Thousand One Hundred & Ninety Five Only
3.23	20 mm cement plaster of mix: 1:4 (1 cement : 4 coarse sand)	100.00	sqm	317.40	31740.00	INR Thirty One Thousand Seven Hundred & Thirty Nine and Paise One Hundred Only
3.24	Demolishing brick work manually / by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-Charge. In cement mortar	10.00	cum	1194.45	11944.50	INR Eleven Thousand Nine Hundred & Forty Four and Paise Fifty Only
3.25	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	250.00	sqm	32.00	8000.00	INR Eight Thousand Only
3.26	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes. 110 mm diameter	120.00	mtr	262.40	31488.00	INR Thirty One Thousand Four Hundred & Eighty Seven and Paise One Hundred Only

3.27	Providing and fixing on wall face unplasticised-PVC moulded fittings / accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion 110 mm bend	20.00	each	114.60	2292.00	INR Two Thousand Two Hundred & Ninety Two Only
3.28	Providing and fixing on wall face unplasticised-PVC moulded fittings / accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion3 Single tee with door 110x110 mm	10.00	Each	178.35	1783.50	INR One Thousand Seven Hundred & Eighty Three and Paise Fifty Only
3.29	Providing and fixing unplasticised-PVC pipe clips of approved design to unplasticised-PVC rain water pipes by means of 0x50x50 mm hard wood plugs, screwed with M.S. screws of required length, including cutting brick work and fixing in cement mortar 1:4 (1 cement : 4 coarse sand) and making good the wall etc. complete. 110 mm	50.00	each	234.80	11740.00	INR Eleven Thousand Seven Hundred & Forty Only
3.30	Distempering with 1st quality acrylic distemper (readymixed) having VOC content less than 50 gram/litre, of approvedmanufacturer, of required shade and colour all complete: Newwork (twoormore coats) over and includingwater thinnable priming coat with cement primer having VOC content less than 50 pram/litre	2000.00	Sqm	115.00	230000.00	INR Two Lakh Thirty Thousand Only
3.31	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade :Two or more coats on new work	450.00	Sqm	99.90	44955.00	INR Forty Four Thousand Nine Hundred & Fifty Five Only
3.32	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622, of approved make, in all colours and shades, laid on 20mm thick cement mortar 1:4 (1 cement : 4 coarse sand), including grouting the joints with white cement and matching pigments etc., The tiles must be cut with the zero chipping diamond cutter only . Laying of tiles will be done with the notch trowel, plier, wedge, clips of required thickness, leveling system and rubber mallet for placing the tiles gently and easily. 1Double charge vitrified tile polished finish of size.	20.00	Sqm	1067.50	21350.00	INR Twenty One Thousand Three Hundred & Fifty Only
3.33	Providing and laying Vitrified tiles in different sizes (thickness to be specified by manufacturer), with water absorption less than 0.08 % and conforming to I.S. 15622, of approved make, in all colours & shade, in skirting, riser of steps, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including grouting the joint with white cement & matching pigments etc. complete. Size of Tile 600x600 mm	25.00	sqm	1221.20	30530.00	INR Thirty Thousand Five Hundred & Thirty Only
3.34	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	1250.00	Sqm	98.45	123062.50	INR One Lakh Twenty Three Thousand &Sixty Two and Paise Fifty Only

					1	
3.35	Finishing walls with acrylic smooth exterior paint of required shade: New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/10 sqm)	2500.00	sqm	115.85	289625.00	INR Two Lakh Eighty Nine Thousand Six Hundred & Twenty Five Only
3.36	Removing white or colour wash by scrapping and sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	1875.00	sqm	11.85	22218.75	INR Twenty Two Thousand Two Hundred & Eighteen and Paise Seventy Five Only
3.37	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead: Of area 3 sq. metres and below	20.00	nos	218.95	4379.00	INR Four Thousand Three Hundred & Seventy Nine Only
3.38	Demolishing lime concrete manually / by mechanical means and disposal of material within 50 metres lead as per direction of Engineer-in-Charge.	5.00	cum	493.65	2468.25	INR Two Thousand Four Hundred & Sixty Eight and Paise Twenty Five Only
3.39	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete14.46 Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete	1500.00	sqm	15.25	22875.00	INR Twenty Two Thousand Eight Hundred & Seventy Five Only
3.40	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundations and plinth in :Cement mortar 1:4 (1 cement : 4 coarse sand)	20.00	sqm	673.45	13469.00	INR Thirteen Thousand Four Hundred & Sixty Nine Only
3.41	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in Superstructure above plinth level upto floor five level in Cement mortar 1:4 (1 cement : 4 coarse sand)	30.00	sqm	802.35	24070.50	INR Twenty Four Thousand &Seventy and Paise Fifty Only
3.42	Providing and fixing white vitreous china water closet squatting pan (Indian type) :Orissa pattern W.C. pan of size 580x440 mm	3.00	each	4774.45	14323.35	INR Fourteen Thousand Three Hundred & Twenty Three and Paise Thirty Five Only
3.43	Providing and fixing white vitreous china pedestal type (European type / wash down type) water closet pan.	3.00	Each	1986.20	5958.60	INR Five Thousand Nine Hundred & Fifty Eight and Paise Sixty Only
3.44	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the wallswherever require:	3.00	Each	1458.10	4374.30	INR Four Thousand Three Hundred & Seventy Four and Paise Thirty Only
3.45	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.	3000.00	ltr	8.40	25200.00	INR Twenty Five Thousand Two Hundred Only
3.46	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer-in- harge.Internal work - Exposed on wall 20 mm nominal outer dia pipes	30.00	mtr	259.05	7771.50	INR Seven Thousand Seven Hundred & Seventy One and Paise Fifty Only

	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC)					INR Twenty Four Thousand Eight Hundred & Sixty Two and Paise Fifty Only
3.47	pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer-in- harge. Internal work - Exposed on wall 25 mm nominal outer dia pipes	75.00	mtr	331.50	24862.50	
3.48	CARRIAGE OF MATERIALS By Mechanical Transport including loading, unloading and stacking Lime, moorum, building lead 1 km	75.00	cum	109.27	8195.25	INR Eight Thousand One Hundred & Ninety Five and Paise Twenty Five Only
3.49	Centering and shuttering including strutting, propping etc. and removal of form for :Foundations, footings, bases of columns, etc. for mass concrete	20.00	sqm	262.55	5251.00	INR Five Thousand Two Hundred & Fifty One Only
3.50	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. Concealed work, including cutting chases and making good the walls etc. 20 mm nominal dia Pipes	50.00	meter	399.20	19960.00	INR Nineteen Thousand Nine Hundred & Sixty Only
3.51	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. Concealed work, including cutting chases and making good the walls etc. 25 mm nominal dia Pipes	25.00	meter	496.75	12418.75	INR Twelve Thousand Four Hundred & Eighteen and Paise Seventy Five Only
3.52	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	200.00	sqm	821.25	164250.00	INR One Lakh Sixty Four Thousand Two Hundred & Fifty Only
3.53	Providing ridges or hips of width 60 cm overall width plain G.S. sheet fixed with polymer coated J or L hooks, bolts and nuts 8 mm dia G.I. limpet and bitumen washers complete. 0.63 mm thick with zinc coating not less than 275 gm/m²	75.00	meter	600.40	45030.00	INR Forty Five Thousand &Thirty Only
3.54	Providing valleys of 90 cm wide overall in plain G.S. sheet fixed with polymer coated J, or L hooks, bolts and nuts 8 mm dia G.I. limpet and bitumen washers complete: 1.60 mm thick with zinc coating not less than 350 gm/m²	75.00	meter	1132.55	84941.25	INR Eighty Four Thousand Nine Hundred & Forty One and Paise Twenty Five Only
3.55	Providing and fixing gun metal gate valve with C.l. wheel of approved quality (screwed end) : 25 mm nominal bore	10.00	Each	462.15	4621.50	INR Four Thousand Six Hundred & Twenty One and Paise Fifty Only

			T	I	1	T
3.56	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) :: 50 mm nominal bore	5.00	Each	762.45	3812.25	INR Three Thousand Eight Hundred & Twelve and Paise Twenty Five Only
3.57	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete : (copper oxidized as per IS: 1378) 300x16 mm	10.00	each	153.75	1537.50	INR One Thousand Five Hundred & Thirty Seven and Paise Fifty Only
3.58	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete: (copper oxidized as per IS: 1378) 250x10 mm	10.00	each	63.60	636.00	INR Six Hundred & Thirty Six Only
3.59	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete : (copper oxidized as per IS: 1378)	10.00	each	29.85	298.50	INR Two Hundred & Ninety Eight and Paise Fifty Only
3.60	Providing and fixig health faucet chrome finish with flexible tube and wall hook, jet spray of approved brand for toilet as required.	3.00	Each	1502.75	4508.25	INR Four Thousand Five Hundred & Eight and Paise Twenty Five Only
3.61	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin sizeWhite Vitreous China Flat back wash basin size 550x400 mm with single 15 mm C.P. brass pillar tap	3.00	Each	1458.10	4374.30	INR Four Thousand Three Hundred & Seventy Four and Paise Thirty Only
3.62	Providing and fixing uplasticised PVC connection pipe with brass unions :45 cm length 20 mm nominal bore	20.00	Each	89.05	1781.00	INR One Thousand Seven Hundred & Eighty One Only
3.63	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931 a) 15 mm nominal bore 15mm nominal bore	25.00	Each	434.40	10860.00	INR Ten Thousand Eight Hundred & Sixty Only
3.64	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 :15 mm nominal bore	20.00	Each	376.95	7539.00	INR Seven Thousand Five Hundred & Thirty Nine Only
3.65	Providing and fixing ISI CP Brass Two way bib Cock of bright finish all complete as per direction of EIC.	3.00	Each	1762.10	5286.30	INR Five Thousand Two Hundred & Eighty Six and Paise Thirty Only
3.66	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete.	6.00	Each	1126.55	6759.30	INR Six Thousand Seven Hundred & Fifty Nine and Paise Thirty Only
3.67	Providing and fixing PTMT towel rail complete with brackets fixed towooden cleats with CP brass screws with concealed fittingsarrangement of approved quality and colour. 450 mm long towel rail with total length of 495 mm,78 mm wide and effective height of 88 mm, weighing notless than 170 gms	5.00	Each	447.40	2237.00	INR Two Thousand Two Hundred & Thirty Seven Only
3.68	Providing and fixing PTMT towel ring trapezoidal shape 215 mm long,200 mm wide with minimum distances of 37 mm from wall face withconcealed fittings arrangement of approved quality and colour,weighing not less than 88 gms.	5.00	Each	177.70	888.50	INR Eight Hundred & Eighty Eight and Paise Fifty Only
3.69	Providing and fixing PTMT liquid soap container 109 mm wide, 125 mm high and 112 mm distance from wall of standard shape with bracket of the same materials with snap fittings of approved quality and colour, weighing not less than 105 gms.	3.00	Each	127.00	381.00	INR Three Hundred & Eighty One Only

3.70	Providing and fixing 600x120x5 mm glass shelf with edges round off, supported on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with 40 mm long screws, rawl plugs etc., complete	5.00	Each	751.95	3759.75	INR Three Thousand Seven Hundred & Fifty Nine and Paise Seventy Five Only
3.71	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete.Flexible pipe 32 mm dia	25.00	Each	90.60	2265.00	INR Two Thousand Two Hundred & Sixty Five Only
3.72	Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long, weighing not less than 88 gms	50.00	each	95.35	4767.50	INR Four Thousand Seven Hundred & Sixty Seven and Paise Fifty Only
3.73	Ease and adjusting windows and doors in required shape with necessary tolls and tackles	50.00	Each	293.85	14692.50	INR Fourteen Thousand Six Hundred & Ninety Two and Paise Fifty Only
4.00	PART D (AMC FOR UPKEEPING AND MAINTENANCE OF CENTRAL STORE, BARKAKANA)					
4.01	Cleaning and upkeep, maintenance of all rooms, corridor, stair case etc. of all buildings by cleaning toilets, floor, dado, windows, doors, cupboards, furnitures including collection & removal of waste materials from various places within the building premises etc. with necessary materials like vim powder, phynyl, harpic, colin, naptha balls, broom sticks, patwa, bucket, mug ettc. all complete as per instruction of said building authorities (Consider one labour for each building). (All materials and dress to be paid separately) complete as per the instruction of building authority. 04 nos. of labour to be deployed every working days	610.00	day	2443.80	1490718.00	INR Fourteen Lakh Ninety Thousand Seven Hundred & Eighteen Only
4.02	Supply of material: Surf excel Easy Wash Detergent Powder 5 kg or Equivalent	7.00	5 kg	885.50	6198.50	INR Six Thousand One Hundred & Ninety Eight and Paise Fifty Only
4.03	Supply of material: Phenyl White	10.00	5 litre	1012.00	10120.00	INR Ten Thousand One Hundred & Twenty Only
4.04	Supply of material: Harpic Toilet Cleaner 1000 ml bottle	24.00	each	238.05	5713.20	INR Five Thousand Seven Hundred & Thirteen and Paise Twenty Only
4.05	Supply of material: Naptha Ball	6.00	kg	345.00	2070.00	INR Two Thousand &Seventy Only
4.06	Supply of material: Phool Broom	12.00	each	103.50	1242.00	INR One Thousand Two Hundred & Forty Two Only
4.07	Supply of material: Stick Broom	12.00	each	80.50	966.00	INR Nine Hundred & Sixty Six Only
4.08	Supply of material: Toilet brush	6.00	each	57.50	345.00	INR Three Hundred & Forty Five Only
4.09	Supply of material: Floor Wiper	6.00	each	287.50	1725.00	INR One Thousand Seven Hundred & Twenty Five Only
4.10	Supply of material: Bleaching powder	60.00	kg	20.70	1242.00	INR One Thousand Two Hundred & Forty Two Only
4.11	Supply of material: Floor Mop	16.00	each	287.50	4600.00	INR Four Thousand Six Hundred Only
4.12	Supply of material: Plastic bucket with Mug 16 litre capacity, Cello or Equivalent	6.00	each	287.50	1725.00	INR One Thousand Seven Hundred & Twenty Five Only
5.00	PART E (Fogging)					
5.01	Fogging with smoker mixed with diesel @ 8 ml smoker with one litre of diesel twice per month as per direction of Engineer-in-charge (treatment to be done using spray machine along with proper safety provisions for sprayer like mask etc).	24.00	hour	778.40	18681.60	INR Eighteen Thousand Six Hundred & Eighty One and Paise Sixty Only
6.00	PART F (Cutting and Pruning of tree)					
6.01	Cutting/Pruning of tree branches at any height and stacking of serviceable material and disposal of unserviceable material within lead of 150 m as per direction of EIC (upto 60 cm girth size of tree, measured at 1 m height from GL)	20.00	Each	2727.67	54553.40	INR Fifty Four Thousand Five Hundred & Fifty Three and Paise Forty Only

6.02	Cutting/Pruning of tree branches at any height and stacking of serviceable material upto lead 150 m and disposal of unserviceable material as per direction of EIC (beyond 60 cm girth size of tree, measured at 1 m height from GL)	10.00	Each	4091.50	40915.00	INR Forty Thousand Nine Hundred & Fifteen Only	
7.00	PART G (Rolling Shutter)						
7.01	Dismantling/opening of damaged laths and stack at right place within 0.5Km as per direction of EIC.	50.00	sqm	75.67	3783.50	INR Three Thousand Seven Hundred & Eighty Three and Paise Fifty Only	
7.02	Cleaning of dirt, greasing & overhauling of rolling shutters with necessary oil/grease with tools & tackles as per dirction of EIC.	36.00	Nos	302.68	10896.48	INR Ten Thousand Eight Hundred & Ninety Six and Paise Forty Eight Only	
7.03	Providing and fixing of 80x1.2 mm M.S Lath for rolling shutter with appropriate interlocking joints end by end.	50.00	sqm	1089.69	54484.50	INR Fifty Four Thousand Four Hundred & Eighty Four and Paise Fifty Only	
7.04	Providing &fixing 60 cm long wire spring grade No. 2 for rolling shutters.	20.00	Nos	1505.15	30103.00	INR Thirty Thousand One Hundred & Three Only	
7.05	Providing & fixing of Gear box for rolling shutter.	4.00	no	3469.40	13877.60	INR Thirteen Thousand Eight Hundred & Seventy Seven and Paise Sixty Only	
7.06	Providing and fixing ball bearing for rolling shutters.	20.00	no	588.94	11778.80	INR Eleven Thousand Seven Hundred & Seventy Eight and Paise Eighty Only	
7.07	Providing and fixing G.I Pipes as connection rod complete with G.I. fittings External work 25 mm dia. nominal bore	12.00	mtr	259.45	3113.40	INR Three Thousand One Hundred & Thirteen and Paise Forty Only	
7.08	Providing and fixing G.I Pipes as shaft pipe complete with G.I. fittings External work 40 mm dia. nominal bore	15.00	mtr	370.81	5562.15	INR Five Thousand Five Hundred & Sixty Two and Paise Fifteen Only	
7.09	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	50.00	kg	77.95	3897.50	INR Three Thousand Eight Hundred & Ninety Seven and Paise Fifty Only	
7.10	Providing and fixing bolts including nuts and washers complete.	20.00	kg	111.65	2233.00	INR Two Thousand Two Hundred & Thirty Three Only	
7.11	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work	220.00	sqm	99.90	21978.00	INR Twenty One Thousand Nine Hundred & Seventy Eight Only	
7.12	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work	1500.00	sqm	65.65	98475.00	INR Ninety Eight Thousand Four Hundred & Seventy Five Only	
7.13	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only	
Total in Figures					4215197.67	NR Forty Two Lakh Fifteen Thousand One Hundred & Ninety Seven and Paise Sixty Seven Only	
Quoted Rate in Figur	res		Select		0.00	INR Zero Only	
Quoted Rate in Word	ls	INR Zero Only					